— —h

o o
— N

T T

Time Spent Settling (sec)
=

2024-04-23 vs 2024-04-09 SR785 Settle Parameters Comparison

—— Settle Cycles: 2 cycles
—— Settle Time: 250 msec
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OMC DCPD TIA Measurement Response vs. SR785 Settings and Noise Considerations
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—— TIA Frequency Response

Settle Cycles - Settle Time Cross-Over (8.57 Hz for 2 cycles, 250 msec)
Settle Cycles - Settle Time Cross-Over (9.85 Hz for 1 cycles, 101.56 msec)
O Point of Lowest Amplification in "Settle Time" Regime
V¥V Point of Lowest Amplification in "Settle Cycles" Regime
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Step Response (Vpk TIA Output)
o

D2000592 OMC DCPDA Transimpedance Amplifier Step Response

—— Step Amplitude: (SR785 SRC Input/ TIAR
—— Step Amplitude: (SR785 SRC Input/ TIA R

Series

Series

)= (4V,, /100k [V/A]) = 40 [uA]
)= (1V,, / 100k [V/A]) =10 [uA] ]
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D2000592 OMC DCPDA Transimpedance Amplifier Step Response ZOOM
BAD SR785 Settings

0.14 — 1 1 1 T T '
—— Step Response (1 V input) :
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Step Response (Vpk TIA Output)

D2000592 OMC DCPDA Transimpedance Amplifier Step Response ZOOM
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